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sort(h, h + 9);

for (int 1 = 0; 1 < 9; 1i++) 3
for (int j =1 + 1; j < 9; j++) %
if (sum - h[i] - h[j] == 100) {
// TA oM & 7 WiEL] 1000[H ©HZ &2 A
[~

// USo == Of & 2 wjEH =

print[i] = print[j] = false;
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« A A —main() B

vector<int> h(9);
vector<int> picked;
bool visited[9];
int sum;

int main() 3

for (int 1 = 0; 1 < 9;

cin >> h[i];

§

solution(7);

return 0O;

—

i++) 1
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e solution(int to_pick):XdE A to_pick/l &2

void solution(int to_pick) 3

// [AZ]0] 7[X AHo|a &F& ¥H]

for (int 1 = 0; i < 9; i++) §
if (!visited[i]) 1

picked.push_back(num[i]);
visited[i] = true;
sum += num[i];
solution(to_pick - 1);
picked.pop_back();
visited[1i] = false;
sum -= num[i];
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void solution(int to_pick) 3

// [AZ]0] 7[X AHo|a &F& ¥H]

e O}l 12 X| QO HH

for (int 1 = 0; i < 9; i++) §

if (!visited[i]) 1
picked.push_back(num[i]);
visited[i] = true;
sum += num[i];
solution(to_pick - 1);
picked.pop_back();
visited[1i] = false;
sum -= num[i];
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void solution(int to_pick) 3

// [AZ]0] 7[X AHo|a &F& ¥H]

for (int 1 = 0; i < 9; i++) §
if (!visited[i]) 1

picked.push_back(num[i]);
visited[i] = true;
sum += num[i];:
solution(to_pick - 1);
picked.pop_back();
visited[1i] = false;
sum -= num[i];
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void solution(int to_pick) 3

// [AZ]0] 7[X AHo|a &F& ¥H]

for (int 1 = 0; i < 9; i++) §
if (!visited[i]) 1

picked.push_back(num[i]);
visited[i] = true;
sum += num[i];
solution(to_pick - 1);
picked.pop_back();
visited[1i] = false;
sum -= num[i];
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« T E2=2| 7|X AH|O|A (Base case) : MH& =7 LA S0 &= Q= XA AHO|A

void solution(int to_pick) 3
if (to_pick == 0) 3
if (sum == 100) 3
sort(picked.begin(), picked.end());
for (int it : picked) 3
cout << 1t << '\n';

§
exit(0);
t else 3
return;
§
§
/] ...
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Void solution(int to_pick) 3
if (to_pick == 0) 3
if (sum == 100) 3
sort(picked.begin(), picked.end());
for (int it : picked) 3
cout << 1t << '\n';

§
exit(0);
t else 3§
return;
§
§
/] ...
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« 2/0[ 1000| lCtH =%tH =S B2 =83 = 5

void solution(int to_pick) 3
if (to_pick == 0) 3
if (sum == 100) 3
sort(picked.begin(), picked.end());
for (int it : picked) 3%
cout << 1t << '\n';

§
exit(0);
t else 3
return;
§
§
/] ...
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YLD T bf() =&

int n, m, ma[31][31], max_sum;
Vector<int> picked;

int main() 3
cin >> n >> m;
for (int 1 = 0; 1 < n; i++) 1
for (int j = 0; j < m; j++) {
cin >> mali][j];
§
§

bf(); cout << max_sum << '\n';

return 0O;
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« AT 2200 I S22, CHA| STE 2 = B=

void bf() $
/] 71N AOA FZ

for (int 1 = (picked.empty() ? 0 : picked.back() + 1); i < m; i++) 3%

picked.push_back(1i);

bf();
picked.pop_back();
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void bf() %
/1 71X AQ|

for (int 1

>

o #16439 - X2 X|Z1 X[ 2]

==
T

(picked.empty() ? 0 : picked.back() + 1); i < m; i++) {

picked.push_back(1i);

bf();

picked.pop_back();
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void bf() 1
1f (picked.size() == 3) {
int sum = 0;
for (int 1 = 0; 1 < n; 1i++) 3
sum += max({imal[i] [picked[0]], ma[i][picked[1]], ma[il[picked[2]]});

§
max_sum = max(max_sum, sum);
return;

§

/] ...
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void bf() %
if (picked.size() == 3) {

int sum = 0O;
for (int i = 0; i < n; i++) §

sum += max({imal[i] [picked[0]], ma[i][picked[1]], ma[il[picked[2]]});

h

max_sum = max(max_sum, sum);
return;

/] ...
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« N-Queen Problem : NXN Z7|2] H| AL 2 NVHE A =2 38 4= QA == A.
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e main() B2

int n;
int row[15]; // row[x] : xBmW o ZIo] H HE| &G /U=X]|
int cnt; // 8%& =+

int main() 3
cin >> n;

ot
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>

// solution(x) : xEIW|
/] QWY MEEl AX
solution(0);

cout << cnt << '"\n';

return 0O;
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« solution() B&

// solution(x) : xBHR] HO F= EOtE= ==+
void solution(int x) 3
// 71X Aol BE

[/ x¥Ll 0€~(n-1)ETHX| EBAM s FO0E1D, =5 UFROHCHHE AE A

for (int 1 = 0; 1 < n; 1++) 3%
row[x] = 1;
if (check(x)) 3
solution(x + 1);

§
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+ solution() 2= - S E01=1, 712 BIESOIR TS solution (x+1) =&

// solution(x) : xBIW &0 = =O0tE= &=+
void solution(int x) 3
// 71X Aol BE

[/ xd8L|l 08~(n-1) E7X| EHAM E= 02D, =S TrESCHH AL T
for (int 1 = 0; 1 < n; i++) 1
row[x] = 1;
if (check(x)) 3
solution(x + 1);

oSt

§
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e solution() E& - 7|X A|0|A

void solution(int x) {
if (x == n) {

// Mg o & r~ow77r7<| tOM, StLte| HHES
// B2 =& StLHt F7I5 F_T'_ return
cnt++;
return;
}
/] ...
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e solution(n) =2 2= L= A2 THS BHEGHH O

void solution(int x) {
if (x == n) {
2 rowtA| O™, SHLES| HIE=
// B2 =& StLt F7I5tD return
cnt++;
return;

/] ...
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» check (x) : &M xATX| M2 JENE W, XS 7K M2 MAEO| =101 &

bool check(int x) {
for (int 1 = 0; i < x; i++) {
if (row[x] == row[i] || x - i == abs(row[x] - row[i])) {
return false;

}
¥

return true;
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bool check(int x) {
for (int 1 = 0; i < x; i++) {
if (row[x] == row[i] || x - i == abs(row[x] - row[i])) {
return false;

}
¥

return true;
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